Jackson
1411 _99727/99728/99729

Habitat




1411_99727/99728/99729

X1 | 1/1

B X1 | 1/1

C ﬁ X1 | 1/1

C2 @ X1 1/1

D =" X1 | 1/1

E g X5 | 1/1

F k X4 | 1/1




1411_99723/99724/99730

G X1 | 1/1
H X1 | 1/1
H2 X1 | 1/1
| X1 | 1/1
J X1 | 1/1
K X1 | 1/1




iy M6*14mm X4 | 1/1
i M6*20mm X8 | 11
Wiy M8*25mm X2 11

i) M8*35mm X18 | 11

M8*45mm X2 | 1/1

2
=S

(0
(

(@
((

@ M8*60mm X1 1/1

0

M8*22*2mm | X18 | 1/1

SHONEGHONONOHOHCOHONONOMNS

P17 elelal

M8 X1 | 11
X1 | 11
M8 X1 | 1/1
M6 X1 | 1/1
X1 | 11

FR : SAV/IINFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT
ES: SERVICIO POST-VENTA/INFORMACION/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO

PT: SERVIGCO POS-VENDA/INFORMAGOES/VIDEO/CONTATO

PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT

NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT

HE: Ixn wnin moum/mry /mirxiangen yo

SAV. HABITATETJARDIN. COM




IN

|

[




